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231-01 &3 3,000 7,000 24,000
OREAMAL - LHOSE Ao PHI 3,000
234 MEH = 153,000 164,000 A 11,000
234-02 J|ELULEH = 153,000 164,000 211,000
OBMAFXT Y 91 DEHR 140,000
OMESIMY S 98 DEHE 3,000
OZYn {8 BEH= 10,000
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2N MEX A
H: ES TA T
chel gy ae (ol &9)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
-Hg=E(s2) 150,000& * 1H 150
- &= (5te) 100,000& = 1H 100
—OtX (& A 3}) 50,000& = 1H 50
—-gsts 200,000& = 1H 200
O==d|(2#FZAIR1) 50008 » 1H % 200 1,000
02 ZZ 2l 4,320 3,480 840
OBHOR S=1Y RRH 200,008 » 128 2,400
O8FYURY S8 DERUE 23
40,0008 * 122 480
04828 QUHEY ALY 423
120,000& = 12& 1,440
202 04| 1,500 1,500 0
01 2L Y| 1,500 1,500 0
Ostzdaels 28 odl 500,000 = 3H 1,500
SAIDIB RS 3,115,341 3,145,880 AN 30,539
SEAE &5 L 22| 2,423,141 2,162,980 260, 161
101 2121 4| 697,608 642,354 55,254
04 JIZtHIZ22XNSE 697,608 642,354 55,254
O2gzgd 20(e) 185,692
A== 76,160& = 10¥ * 180 137,088
-f25dsY 76,160& * 10Y = 452! 34,272
- 24l 5,000& * 10¥ = 180 9,000
—-AXSII0IANESY
76,160& ~ 10 = 74 5,332
O=2¢ ¢ s&a HA8 20H(A) 429,625
-J23 73,280 * 242 x 180¥ 316,570
=252 73,2803 * 24Y * 45Y 79,143
- ZAlHl 5,000& * 24% x 180 21,600
- XUFII0IAMNESE
73,280 * 24Y x 7Y 12,312
O2¢ £=2228 () 16,948
-Jl23 76,160& » 2 = 80 12,186
-R25dsY 76,160& x 2% x 22¢ 3,352
=] 5,000& * 2 % 80 800
—AXISFI0IANESY 76,160F + 29 » 4L 610
O2¢ £=222/2(0) 65,343
-J23 73,280& * 8H x 80Y 46,900
- R25dsY 73,2803 x 8YH x 22 12,898
- ZAlHl 5,000& * 8% * 80 3,200
—AXFI0IANESY 73,2803 * 8" x 4Y 2,345
201 Lt 2| 488,333 469,926 18,407
01 At 22l ] 85,778 81,646 4,132
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Sl TADIE PE (ol @)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
O3& MY+ HESE(502IH) &
1,800& = 14,000& 25,200
OBROIE oHLf 849 A%
55,000& * 62 * 23] 6,820
OZRAE HHl A% L 24 Y3
550,000& = 16 8,800
OZ2ds&a ARE ¢ 32,568
-HAEE 14,000 * 23 A = 123] 3,864
-AMEE 60,000 * 230 A * 123] 16,560
— 2k 14,000& * 23 A = 123] 3,864
- AEH 30,000& = 2304 * 123 8,280
Ooul=sl 3,480
- OtN 5} 50,000& * 21H 1,050
- &3 30,000& = 214 630
— OFA XTI 20,000& * 304 600
-otolA® X)) S 40,000& * 30JH 1,200
OxZd&2d 1=l 1,800
-gE(s2) 150,000& * 64 900
-XA=(sl=) 100,000& * 69 600
—OtM (& NG 50,000& * 6YH 300
Oatgot™ 2| 2=A WE 185,000& * 69 1,110
O=2=H|(=ZH2&6) 5,0008 » 6 » 200 6,000
02 =294l 402,555 388,280 14,275
O33AN&E=E S IS
11,000,000& * 12& 132,000
O3 &ot+=ER2 123,000
OZZAISES ALYl B8 (6202 ) 5,500
OOUE0l=0lAld &EII& AYI
300,000& * 47 2 14,100
SRAE =82l 2,265,000& * 4504 A~ 101,925
O=d st&EA =83 XHl 850,000& * 2344 19,550
OJIAHEH ¥ Ut 2 FHI
500,000& = 12& * 104 6,000
OZHOIR c&8 ZEEUE 23
40,000& * 12& 480
202 (4] 3,000 2,500 500
01 2L Y| 3,000 2,500 500
ONMg=X8 LRFA0 500,000& * 6Y 3,000
206 M= Hl 52,600 52,600 0
01 X2t 52,600 52,600 0
O33&2s A 2 52,600
-XF=s ¢ XXM 10,000& = 1,0004 10,000
-3d2A2E HE P 25,0008 * 1,000 25,000
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01 A& Hl 1,177,100 986,600 190,500
OZ& |Xzel 520,000
S¥ =ZANE A2 200,000
O32&s ud ¥ &l 30,000
Ok= SMHAIE FHl SA 40,000
OZ& =323l At 129,600
O3&% BAAMNEE e 157,500
O¥Rils 2¥& Hul(8g3& 100,000
405 XtatE SHI 1,500 4,500 A 3,000
01 AR ESFH S 1,500 4,500 A 3,000
Oz&zel Zl 1,500
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sS4 | 150,000 171,500 A 21,500
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SotdSE EHl SA 80,000 135,000 A55,000
401 AIEHI L 2] 80,000 135,000 /55,000
01 A& Hl 80,000 135,000 55,000
Ossotd & & 80,000
e REEN EE 6,000 6,000 0
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SN MBI
o NS AR (MEXAD)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIZ2 AR EEHI 500,000& = 12& 6,000
OJIEt==EH| 250,000& = 12& 3,000
OO0t & S22 2L Sl
550,000& = 249H 13,200
O=SAD Xtz 260,000 * 12043 3,120
OZgH Eds 4238 7¢ 7,810
-&EU4 192,940& = 7CH = 53l 6,753
- SAESX 17,610 » 60 A 1,057
OSgJl Zet 2 M8 23
7,500 * 100& = 4=27D| 3,000
02 =24l 18,000 18,000 0
ORERS 1,500,000& * 12& 18,000
202 o4dl 40,320 42,240 A 1,920
01 = LH o4 1l 40,320 42,240 A 1,920
Ounss JI2LRFA 0
140,000& * 24%H » 12& 40,320
203 &R =T H| 4,200 4,800 A 600
04 FN2ELRZTH| 4,200 4,800 A 600
ORNM2Y =2 350,000 * 123 4,200
204 MR AH| 1,200 1,200 0
01 M HRHZH 1,200 1,200 0
O&Mg PR FH| 100,000& » 12& 1,200
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